Overview

A5 70 olsh X ThY S

A A XX od O ! NP
© o & = o Has-a Model
o HAE XY™l O|s)
o =& Seiaet 22 S2fA9| ofd
o QEHO|A 7|5 Ofsh
o & Hgl 0|8
321190 ZF & XFX &0 m!
2009|_=| 7|-°6‘|- | m HA OOJ—I- O = oo—l HlJ-l—
9/22/2009
24
Inheritance Inheritance

O A< (Inheritance)2t 4% 2229 7|51t £48 319

ZEA0A o= EE;IKE A= 2O

B AR 2AE 2 /7|H 22 A (base Class), 819 2eiA 2
RtAl/ot ZeA (derived Class)2t ™ 9|

m 52| EdfA(derived Class)= A5 Bto M AQ| Sl A(base
Class)o| & HHEEQ} HACEZ ARE £ S

w S22 AB
(upcasting)

m PALEY R =YY - 0|0 EXLSts FUHAE FHRGHY
Mzg 2 Hﬁ Al

O A= (Inheritance) 49|
= “base” O:IAle-E AI-Ol 74
= 2HAE Ho ¢

class <derivedClass> :

class Shape

{

class Circle: Shape

{
}

X-” ~ :L

FH : (2 8)2 M85t

<baseClass>

Ak 3}
O 71—

A BA




Motivation

class Student

{
string name;
int age;
public int GetAge() { return age; }

int id;
}

Repeated code!

class Staff
{
string name;
int age;
public int GetAge() { return age; }

double salary;

}

Inheritance Syntax
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class Person
{
string name;
int age; Person0j= 25 22
public int GetAge() { return age; } °e T
}
class Student : Person
Cint ids Student 02t 9l WHiE %7}
}

class Staff : Person
Employee 0B} Sl HH{Z 27}
double salary;

}

Memory Allocation
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Private Class

class Person

{ Student s = new Student();
Base string name;
fields  iInt age

name
} age
class Student : Person F'\ id
Derived—> {

int id;

}

field

O Private 222
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private class Person {

}

public class Student : Person { // 2 F 524

}




Member Access
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class Person {
protected string name;

protected int GetAge() { return age; }
}

class Student : Person {

int id;

public int GetID() { return id; }

static void Main () {
Student s = new Student();
int age = s.GetAge(); // HAE AN 71 Ao Y= S5
int id = s.GetID(); // g-’-‘- ZHH| Xpple| HAE S&E
/] A AR oA 7|8 A2l protected Wy LC 53
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Member Access
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public class Car {
public Car() { } // protected/public7} OfL|H mfiiZa2f A0 A error
public Car(int wheel) { this.wheel = wheel; }

public class Sedan : Car{

Console.WriteLine(“&t4 0| £: {0}", s.name); Sedan() {} // Sedan() : base() 2} S (LA|H 7|HtZ A MMX} S=)
} } Sedan(int wheel) : base(wheel) { } // %'AIE.QE 7|HIEEA MM S =
}
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public class Car {
protected bool gasoline;
protected Car() { gasoline = true; }
protected Car(int wheel) { this.wheel = wheel; gasoline = false; }

public class Sedan : Car {
private bool gasoline;
Sedan() { gasoline = false; } // base.gasoline=true, this.gasoline= false
Sedan(int wheel) : base(wheel) { gasoline = true; }
public void SedanMove() { if (base.gasoline) ... if (this.gasoline) ... }

using System;
class A {
public A() { Console.WriteLine("A"); }

}
class B: A {
public B() { Console. erteLlne("B") }// B() : base()2} &
public B(int foo) : this() { // B() =3t =0 ofay %%-E— 3=
Console. WriteLine("B({0})", foo);
}

A
class DefaultlnitializerTest{
public static void Main() { A
A al = new A(); B
B bl = new B();
B b2 = new B(100); A
} B

} B(100)




using System;
class C {
public int value;
public C() : this(100) { // C(foo)& & 20| otz BBE ==
Console.WriteLine("C");

}
public C(int foo) {
value = foo; Console.WriteLine("C = {0}", value);

Has-a Model
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public D( { /9] BaAS 7|2 HRE YAHE B e e e SR =8
Console. WriteLine("D"); class Radko |{2= AHEoH= MR SR = 2F Ko 2/
public D(int foo) : base(foo) { /4% SefjAo| MHEXIE BAHN =& public void TurnOn(bool on) {
Console.WriteLine("D = {0}", foo); if (on) Console.WriteLine(" radio on");
} C = 100 else Console.WriteLine(“radio off");
} C }
class DerivedInitializerTest {
public static void Main() { C = 100 ublic class Car {
C cl = new C(); C private Radio music;
D d1 = new D(); D public Car() { music = new Radio(); } // Car has-a Radio
D d2 = new D(42); public void MusicOn(bool on) {
} C=42 music.TurnOn(on); // Xt4Z4H|(Radio)2| 7|58 FZZAH|(Canofl #IY
} D = 42 \ Y
Has-a Model Has-a Model
0 Za/?(Y 2A (has-a 2tA)) public class CarHasATest {
= [ = Sl A2 7+ Ol
= Car Sef2s 01|O-|:I_lf eIt 2 2 QEH —= ;;41 e - public static Main() {
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class Airconditioner {
public void Up() { temperature++; }
public void Down() { temperature--; }

public class Car {
private Airconditioner aircon;
public Car() { aircon = new Airconditioner(); } // Car has-a Aircon
public void TemperatureUp() { aircon.Up(); }
public void TemperatureDown() { aircon.Down(); }
/] ...
}

// BtC|RE ALt
c.MusicOn(true);

/1 oofd 225 oIt
c.TemperatureUp();




Polymorphism

Virtual Method
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public string Name( )

{..

}

public virtual void Draw( )
{..

}

Method Overriding
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class Shape
{ ..
public string Name() { ..}
public virtual void Draw() { ... }
}

class Circle: Shape

{ ..
public override string Name( ) { ... } // error

public override void Draw() { ..} // virtual method0j ClfEF X7 9|

}

// polymorphism
public class Shape {
public virtual void Draw()

— Console.WriteLine("Shape Draw");

}

}
public class Circle : Shape {
public override void Draw()
Console.WriteLine("Circle Draw");
}

}
public class Rectangle : Shape {
public override void Draw()
Console.WriteLine("Rectangle Draw");
}

public class PolymorphismTest {
public static void Main() {

Shape s = new Shape();
s.Draw(); // Shape Draw
s = new Circle();
s.Draw(); // Circle Draw
s = new Rectangle();
s.Draw(); // Rectangle Draw




class Emplogee {
lic string name;
protected int age, hoursWorked;
public Employee(string name, int age, int hoursWorked) {
this.name = name;
this.age = age;
this.hoursWorked = hoursWorked;

}
public virtual double CalculatePay() { // virtual method
return (20000 * hoursWorked);

}
class SalariedEmployee : Employee {
protected int basePay;
public SalarledEmponee(strmg name, int age, int hoursWorked)
base(name, aPe hoursWorked){ basePay = 1000000; }
public override doub CalculatePay) { //method overriding
return (basePay + 20000 * hoursWorked); // pay calculate

Lublic class InheritanceTest { 4% ok, §9: 600000
B =, .
public static void Main() { 7473: AF, Fel: 1600000
Employee[] emplist = { new Employee("OtFZ 7", 22, 30)
new SalarledEmponee( O'J.f ,22,30) )
foreach (Employee e in em$L|st)
Console.WriteLine(">> 2 #:{0}, &0]:{1}", e.name, e.CalculatePay());

Abstract Classes
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abstract class Shape { public abstract void Draw(); }

public class Circle : Shape {
public override void Draw() { ...}

}
public class Square : Shape {

public override void Draw() { ...} A DAL HHE
e =

}
class AbstractTest {
static void Main() {
//Shape s = new Shape(); // error
s = new Circle(); s.Draw();  // circle draw
s = new Square(); s.Draw(); // square draw

Abstract Method
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abstract class Ticket {
public virtual string StartTime( ) { ..
} public abstract int Fare( ); // 7FI1|J‘" HASHI Ho|
class BusTicket: Ticket {
public override string StartTime() { ... }
public override int Fare() { ... } // E}’g' B ANM MA
}

//abstract class & abstract method
abstract class Printer {
public abstract void Print();

abstract class HPPrinter : Printer {
public abstract void SelfTest();

}
class HP640 : HPPrinter {
public override void Print()

Console.WriteLine("2AME =& $HL|CEY);

public override void SelfTest()

{
}
}
class AbstractTest {

public static void Main() {
HP640 myPrinter = new HP640();

Console WriteLine("Z 2IE{ & A}7} RICtstL|CL");

myPrinter.Print();
myPrinter.SelfTest(); EME S L
} ZZIEE X7} T CE




Sealed Class
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// sealed class

e}

public sealed class B { ... }
// sealed method
public class B : A {
public sealed override void DoWork() { }

| E

//sealed class & sealed method
class Printer {
— public virtual void Print() {
Console WriteLine("2M& =& 3L CH");
}

}

class HPPrinter : Printer {
public sealed override void Print() {
Console.WriteLine("HP Z 2l ZEAXE =2 3tL|CE";
}

}

class SealedTest {
public static void Main() {
Printer myPrinter = new Printer();
myPrinter.Print();

HPPrinter myPrinter2 = new HPPrinter();
myPrinter2.Print();
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Multiple Inheritance
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Interfaces

o Interface
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interface IToken : IBase

{

Interface %4t
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public

int LineNumber(); ojgjgjojr0 jAc s 23=20] gl0|
string Name( ); R NE|
}




Class & Interfaces
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//interface // TextObject 22jA ZHH|E array2 X 2|

using System;
interface IScalable { class InterfaceTest {

void ScaleX(float factor); public static void Main() {

o BrawObjectii-chrray—
} new DrawObject[10];
public abstract class DrawObject {

n 2oA & 2P A - At} public DrawObject() {} dArray[0] = new TextObject("Text1");
n SEH ~ & ol E!I1 1| Of X —I_FL?J_T'-U#I j Public abstract vold Printd; dArray[1] = new TextObject("Text2");
= —_ — —_— [y
o 1L A o 1T PRI N =Sn| blic class TextObject: DrawObject, IScalabl
= 2l E'I lL'” Ol A & 92l E‘I ll'” Ol— o= "|;|'7:” pu P:;:V;:taes:trie.'nxg teﬁ,-c rawObject, [Scalable { /* array gets initialized here, with classes that
= o public TextObject(string text) { derive from DiagramObject. Some of
o= EH A& ol_I E-I _LI.‘" Ol b Ad Ol_-l 0:" this.text = text; them implement IScalable. */
o . foreach (DrawObject d in dArray)
. // implemention of IScalable.ScaleX() {
interface IMylInterface: IBasel, IBase2 { o{3] 7l1o] QIE|H 0|A S public void ScaleX(float factor) { if (d is IScalable) {
void MethodA(); At HES OIE{ T 0| A= Console.erteLlne(faSCcth;?(: {0} {1}", text, IScalable scalable = (IScalable) d;
void MethodB(); 42| 2lEmojA9| } ! scalable.ScaleX(0.1F);
' HAEE RS JSE| // implemention of IScalable.ScaleY() scalable.ScaleY(10.0F);
} =ol0F & public void ScaleY(float factor) { d.Print();
Fojof & Console.WriteLine("ScaleY: {0} {1}", text, }
class ClassA: IFacel, IFace2 ) factor); } ScaleX: Textl 0.1
{ // class members , implementing interface } // implemention of Print() )} ScaleY: Textl 10
= public override void Print() { s
I ClassB: BaseCl IF 1 IFace2 ?EH&QL?_IEinﬂN?E- Console.WriteLine("TextObject: {0}", text); TextObject: Textl
class ClassB: BaseClass, IFacel, IFace SHH| AbZ HE= AHO } A T
{ // class members, implementing interface } 7|2 S AT Heo }
o[ ScaleY: Text2 10
TextObject: Text2
IComparable IEquatable
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public class Age : IComparable {
public int CompareTo(object obj) {
if (obj is Age) {
Age temp = (Age) obyj;
return m_value.CompareTo(temp.m_value);
} throw new ArgumentException("Object is not Age”);

}

protected int m_value;

o IEquatable QIE{mH 0| A

m o ANV S Lot HEf2| CHE Aot 22X O FE =Qldt=

= bool Equals (Object obj)
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public class Person : [Equatable<Person> {
public bool Equals(Person p) {
if (p is Person) {
return name.Equals(p.name) && age.Equals(p.age);
} throw new ArgumentException("Object is not Person”);
}
public string name;
public int age;




IEnumerable

O IEnumerable QIE{IH O] A
m CollectionsE HtE38t= Y HX} (IEnumerator Z1KN|)E Htals=
GetEnumerator A= E X|&Zst= QI EHLO|A
m [Enumerator GetEnumerator ()
o IEnumerator QIE{ I 0| A
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= e
m object Current — ZH2HMO| HI| QAE 71X e= &M
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//IEnumerable interface 718 public object Current {

using System;
Using System.Collections; } }
)

get { return t.elements[position]; }

! // Token EH|AE

class InterfaceTest {
public static void Main() {

private string[] eiements;
Tokens(string source, char[] delimiters) {
elements = source.Split(delimiters);

// implemention of GetEnumerator()
public IEnumerator GetEnumerator() {

return new TokenEnumerator(this); foreach (string item in f) {

Console.WriteLine(item);
// implemention of TokenEnumerator }
private class TokenEnumerator : IEnumerator { }
private int position = -1; }
private Tokens t;

Tokens f = new Tokens("This is a sample
test.”, new char [] {" *,

%

public TokenEnumerator(Tokens t) {
this.t = t;

}
public void Reset() {
position = -1;

}
public bool MoveNext() {
if (position < t.elements.Length - 1) {
position++;
return true;
}
else {
return false;
}
}

Interface vs. Abstract Class

Interface vs. Abstract Class

o QlEmo|aet FY 220l SSHA XH0[H
« B Fato| ojn|
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/] FEEeA // QIE{TH O] A
abstract public class StarPlayer { interface IStarPlayer {
public abstract void GoodPlay(); IIC void GoodPlay();

public abstract void Handsome(); void Handsome();
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Interfacel| 2tA| ™ 194

public interface IGunner {
void Shoot();
}
public interface ISoccerPlayer {
void Shoot();
}
public class Gunner : IGunner {
public void Shoot() { Console.WriteLine("&AA7]"); }
}
public class SoccerPlayer : ISoccerPlayer {
public void Shoot() { Console.WriteLine("&X}7("); }
}
// Main () gt4= S7HYES

Gunner g = new Gunner();

g.Shoot(); /] BT
SoccerPlayer s = new SoccerPlayer();
s.Shoot(); // SX17|

Interfacel| HA|AM 19

public class GunPlayer : IGunner, ISoccerPlayer {
void IGunner.Shoot() { Console.WriteLine(“Z7|"); }
void ISoccerPlayer.Shoot() { Console.WriteLine("&Xt7|"); }

GunPlayer p = new GunPlayer();

((IGunner)p).Shoot(); /] =2 7| - IGunner®2 3
((ISoccerPlayer)p).Shoot(); // BX}7| - ISoccerPlayer2 &%
/ = oot 20| siE KB UED U T HTGES S WHE A2

i ot

IGunner g = new GunPlayer(); // IGunner2 @t
g.Shoot(); /] B2
ISoccerPlayer s = new GunPlayer(); // 1SoccerPlayer2 HtHE
s.Shoot(); 1/ 2X}17]

Base/Derived Conversion: Casting

o Upcasting
u St9 22ATL MRATYARO| FAHY B B
o Downcasting
n MQAEATL S E N AR H HSt (downcasting) A| HA|A
o B3t (explicit type conversion AR} ZHQ
= A A FxBTLOtE|7|= M AH el HIOlE A HA
» AIisle 42 “‘InvalidCastException” 244
class UpcastDowncastTest {
static void Main() {
MyBaseClass ¢ = new MyBaseClass();
MyDerivedClass d = new MyDerivedClass();
c=d; // upcasting
d = (MyDerivedClass) c; // downcasting

is & as Operator

ois HAK}

= OB & Higt0] 7HSSHH true ghet
o as ¢ LK}

= ZHH| ALO|Q] & BiBF Gl ALX}

 QF YA Al exception &4 Q10| null Btzt
Bird b;
if (@ is Bird)
b = (Bird) a; // QtTTH H Het
else

Console.WriteLine("Not a Bird");

Bird b = a as Bird; // & H3t
if (b == null)
Console.WriteLine("Not a bird");




Object Type Conversion

e

o BE FEH(0, class)2 System.ObjectO Z £ E{ it 4l
= DE (AHL System.ObjectO 2 & H$0| Jts
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class Bird { ... }
class Parrot : Bird { ... }
class ObjectTypeConversionTest {
static void Main() {
Bird b = new Bird();
Parrot p = new Parrot();

object o = p; // object ¥ Hgt
Bird b2 = o as Bird; // objectéd & Bird H§o 2 H3t
if (b2 == null)

Console.WriteLine("Object is not a bird");
else
Console.WriteLine("Object is a bird");

Boxing and Unboxing

o Boxing
- U > HIEOR BT 2 (UAIN B
o Unboxing
- HEY > YO HRE W (BAY By
memory {
137 a // boxing
_ ol inta = 137;
- g; object ol = a;
137 | b object 02 = ol;
// unboxing
02 int b = (int)o2;
}

User-Defined Type Conversion

oAl RN FE CHE e, 72K 22 7|2
AEYo R Het 7ts
0 @3k HAX(conversion operator)E 9]

class SampleObject {
int number = 42;
public static implicit operator string (SampleObject op) {
return op.ToString();
}// EXEER FHESHE AMUXLE HoMCHH ToString HAE £ o|sloFgt
public override string ToString () {
return “Object: value=" + number;
} // System.Object.ToString M| A E X7 9|
}
/] dig
SampleObject obj;
string s = (SampleObject) obj;

class Point { public int x; public inty; }
class PointClassComparisonTest {
static void Main() {
inti =1 intj=1; // T8Ol H|WE i==j&= true
Point p1 = new Point();
Point p2 = new Point();
Point p3 = p1; // 22 Y E FZsIBZ pl==p3= true
plx =1 ply =1,
p2x =1, p2y = 1,
if (pl == p2) // ZXEo| Hlil= pl==p2& false
Console.WriteLine("pl1t p27} ZC}H");
else
Console.WriteLine(“plu} p27} Ct2LC}");




